
CAT. C07-07  A

7MPa

CHN
ø20, ø25, ø32, ø40

NewNew



�������	

��
��������	

�������

�����

��	


��


�����

��

CHN

����

7.0MPa

�� (mm)

20

25

32

40

����

���
�����
 !"#�
$ !"#�
%&'�

������

(�)

ø20, ø25, ø32, ø40

��	


�*��

+,-��	


$,-��	


CHNCHN.����CHNCHN.����
���

���

�	
�

� !

�48mm

�63mm

CHNø40

CH2ø40

�����������
�����45%��� !
"�

•���#$%&���'()*+,-.
•�/�0��'(����.
•����123�4�.

56�7,689�:;<,=3
>?@A�8	BC

"#

�/

CHNB20-100

CHNB25-100

CHNB32-100

CHNB40-100

01 (kg)

0.51

0.63

0.89

1.51

DE�FGHHIIJKL�MN

2 !�)3$ !�)456(78



CHN

1) ISO 4413: 

2) JIS B 8361: 

 :

 :

 :

  
ISO4413 1) JIS B 8361 2) 

 

 

 

 
1. 

2. 

3. 

 
1. 

2. 

3. 



CHN



CHN



CHN



CHN



CHN

 
 
 

 
 
 

 (+) 
 (–)

2 
 

 
 
 

 
 
 
 

+ 
GND 
 

3 

 
 
 
 
 

 
 
 
 
 

+ 
GND 
 

 

 
 
 
 
 

 
 
 
 
 

+  
GND 
 

1996 9 NECA 0402
 

 



CHN



CHN

��9:;

<=�>��?��9
�

:;@

:;�A

>?OP (mm/s)
8Q100

101Q200
201Q300

RST�U�

70%
30%
10%

BCD��EF<=�G

�V
(mm)

�V
(mm)

WX��
(mm2)

OUT

IN

OUT

IN

OUT

IN

OUT

IN

20

25

32

40

10

12

16

18

314

235

490

377

804

603

1256

1002

1
314

235

490

377

804

603

1256

1002

3
942

705

1470

1131

2412

1809

3768

3006

5
1570

1175

2450

1885

4020

3015

6280

5010

7
2198

1645

3430

2639

5628

4221

8792

7014

Y�XZ (MPa)

[@: N

OUT IN

H��<=�
9IJ

KLMN

��9O;

PQR9O;

ST9H��<=�9O;

\]^_)150mm/s 

`Uabc)30% 

deRSf1000NgRST30%�
hi�jX�k3Z F = 1000/0.3 = 3333(N)

` (1)&  Fp1 = μ1 x Ff1 = 0.9 x 4020
= 3618(N) > F(3333N)

NO

YES

Fp1:  l3mjX��k3Z (N) 
Fp2: nomjX��k3Z (N) 
Ff1: l3m�pqk3Z (N) 
Ff2: nom�pqk3Z (N) 
P: Y�XZ (MPa) 
D: �V (mm) 
d: �V (mm) 
μ1: l3mjX�RS�XZrs 0.9
μ2: nomjX�RS�XZrs 0.9

Fp1 = μ1 x Ff1
Fp2 = μ2 x Ff2

Ff1 =    D2 x P

Ff2 =    (D2 – d2) x P

 (1)&
 (2)&

 (3)&

 (4)&

π
4
π
4

jX��k3Z�t�utv�wx�pqk3Zy.

(1) jX�z{|g#$_}�~��Z.
(2) jX�_����XZ��.
(3) '�,A��������Z.
JJJ���U�tv�����V�hi�.jX���������k3Zg�V�JJJ

JJJXZ�Cr�a�����&.

�{RSZ
pqk3Z �¡)RST.

����V��¢£RST¤>?OP�Cr�fi

�.

RST¤>?OP�Cr¥¦��a5�.

RS1000N�f§�¨XZ5MPa©3
��150mm/s�OP�ª�MN�h
i��V�«¬?

UVWX�>Y��9Z
[\]EF<=�G^:
��

`pqk3Za�ª%{OUT¨XZ5MPa
��­®hi�jX�k3ZF��V)ø32

�ª%{



CHN

_`9:;.abcdefN\gh569ij_`k

 CHN�� lm_`no / �� ø20, ø25, ø32, ø40

¯° <,±² ¯° <,±² ¯° <,±² ¯° <,±²

�� ø20 �� ø25

RSZ (kN) RSZ (kN)

(m
m

)

800

500

100

50
0.05 0.1 0.5 1 2 0.05 0.1 0.5 1 2

F

F

F

F F

F F

F

F

F

6 4

1 5
8 3 7 6 5 4 8 3 71

RSZ (kN) RSZ (kN)

(m
m

)

800

500

100

50
0.05 0.1 0.5 1 2 3 0.1 0.05 0.5 1 2 5

6 8 6 4 8 3 75

1

3 74

5

1

��ø32 ��ø40

�³KL´µ��³�{RSZ¶·��¸¹º»¼c3�.

½¾µ¿�À�a�Ápqk3Zª)ÂÃ�>?�U�ÄZ��ÅÆÄ��@�ÇÈÉ�¿"Ê���5;Y��Ë¥KL.

;Y��Ë¥KL
>?�ÌV�Y�^_6C���³KL´µUÍÎ�ÏY�.

K
L

K
L



CHN

H����h�9:;

:;pq

:;rs@

<ÐÑ^_>
jX� CHN25
Ð�XZ P1 : 5MPa
RSÒÓ M : 50kg
>?OP V : 0.3m/s 
 (ÔÕÖ���)
RS×�%{ {�   θ : 30°
 (Ã��U�ÄZØfZ�).
�ª%{ l3

fZÃOP g : 9.8m/s2

tuH���vw

E1 + E2 ≤ E
9IJ

xyt;
��

zj��

56gh

YES

YESYESYES

{|PQ9
}��

NO

NO NO NO

~�

30°
Mg

Mgsin θ
θ

<ÑÙ>
1.�ÔÕÖ����RS��;
    E1 = MV2/2 = 50 x 0.32/2 = 2.25J
2.�ÔÕÖ�������{W�ÄZF
    F= Mg sin θ =50 x 9.8 x sin 30°=245N

3.�ÚÛ2Ü3�ÄZÝÞ�;ÓE2.

deßà11�ÄZá;ÓÝÞµ�`â�
F=245Nªã´�
ä´�åæªçè´�

é��åæ0.27Jê)ÝÞë�;Ó.

E2 = 0.27J

4. Ü��Ë¥ìí;ÓE.
deßà11�Ë¥ìí;ÓáXZ´µ�`
â�Ð�XZ5MPaªã´�
�Vø25¹
´îå�`åæªçè´�
é��åæ)
3.7J�ê)Ë¥ìí;Ó.

E = 3.7J

5. E1 + E2ïE�ÍÎ
E1 + E2ð2.25ñ0.27ð2.52J
tE = 3.7J
E1 + E2ïE�ò��Y�.

bc���h1��o\��=
9�����h1 E2 

bcij��h1���no\
��9ij��h1E 

x���Ë¥ìí;ÓóôõY�.
ö3÷øóôY��MN���ùú'�û�ü.

������PQ9}�h
1E1 

������H������9
��F 



CHN

jX�©�RS��;¤ÛýÄZ¶·�;Ó ¤x��µbc�Ày.

bc�������9ij��h1���no

ij��h13������9���h1��o

ij��h1���no

Ð�XZ(MPa)

(J
)

ø40

ø25

ø20

ø32

2 3 4 5 6 7
0.5

1

3.7

10

20

(J
)

������9���h1��o

ÄZ(N)
50 100 1000 10000

0.1

0.27

1

10

Ë
¥
ì
í
;
Ó

;
Ó



CHN

ø4(þ�õV)

�õ�O (m/s) >?OP (mm/s)

30

20

12

10
9

8

7

6

5 (    4.5)

4

3

2

�
Ó

( 
 /m

in
)

7 6 5 4 3 2 20 30 40 50 60 80 100 200 3002.8

ø5

ø7

ø8

3/8"(ø9.5)����

ø9

ø12 ����

ø10 ø13

ø15

ø17

1/2"(ø12.7)���� 5/8" (ø15.3) ����

3/4" (ø19) ����

ø6

1/4"(ø6.3)����

KLMN>STY1?����9:;

KLMN3Y19
�

��9+���

����

���þ�

5m/s

4.5m/s

Y9�M

��������óô (Ë¥ 5m/s)

þ�����óô (Ë¥ 4.5m/s)

Q1 =      D2 �υ�π__
4

6_____
1000

Q2 =      (D2 – d2) �  υ �π__
4

6_____
1000

�������(1)&

����(2)&

 ������(3)&
din2 x 10 -3π__

4

V =                          �Q 1___
60

: ¨��O (m/s)
: ¨Ó (  /min)
: ���6	õV (mm)

V
Q
din 

: ßÕ��hi¨Ó (  /min)
: ë
��hi¨Ó (  /min)
: �V(cm)
: >?�V (cm)
: >?OP (mm/s)

Q1

Q2

D
d
υ

��¨��O�iöÆ�a�À����õV.
�öÆ�a�À�XZ��
¥�¶·����
û��Æ�.

bµ%�: �) �V ø40�jX�� 60mm/s �OP�ª��hi��Ó�ð4.5  /min.
 ���ø6 (þ�õV)���õ�O� 2.8m/s.

bcH���;9VWMN\�Y1?�����

�
V

ø
40

�
V

ø
32

�
V

ø
25

�
V

ø
20





CHN
ø20, ø25, ø32, ø40

7MPa

2� 
1� 
n� 

$�/

S
n

��	
��

�8	BC$�/

��	
�/

�� jX�KL(mm)
��P.2�*+KLa.

CHN 25 100 C73L

20
25
32
40

20mm
25mm
32mm
40mm

����

B
L
F
G
C

DE�

�{���

�m���

��m���

[�9�

 7��	
9�//

�� z´�
3%&

 �&

 �&

3´ (NPN îÁ)

RS!X

—
—

ACDC

"z´#P(m)

0.5
(�¯°)

3
(L)

5
(Z)
�z´

(N)

$

$

$

$

$

$

$

$

$

$

$

$

$

$

$

$

—
$

$

—
$

—
$

$

—
—
—
—
—
—
$

$

IC o%
—

&NRS

100V��
—

24V
—

200V ��

5V

6

6

6

'()� (2*)�)

'()�(2*)�)

0'(k3 (2*)�)

0'(k3+��
(2*)�)

0,�-;

.ç	/ (2*)�)

6
�
6

�
2´

2´

2´

2´

IC o%
—

IC o%
—

+
,
-
�
�
	



$
,
-
�
�
	



C76
B53
B54
B64
C73
C80

C73C
C80C

H7LF

—�

—

—

"Jz´#P¯°: 0.5m����¯°(�) C73C 5m����Z (�) C73CZ
                             3m����JJL     (�) C73CL       �z´J��N (�) C73CN
"J0012��3æ8	BC456·¶.
"JD-A3�gA44gG39gK39�U�z´�¯°N�a�.

7!�
PLC

7!�
PLC

7!�
PLC

PLC

PLC

12V

24V

—

24V

Ì´3´&

Ì´3´&

Ì´3´&

DIN 89

z��
´�&

z��
´�&

Ì´3´&

�´
(k3):;'; 8	B

C�°

—

100V

100V, 200V

—

IC o%

—

3´ (PNP)

3´ (PNP)

3´ (NPN)

3´ (NPN)

3´ (NPN)

3´ (NPN)

4´ (NPN)

5Vg12V
12V

5Vg12V
12V

5Vg12V
12V

5Vg12V

12V

12V

5Vg12V

5Vg12V

12V

—

—

A33
A34
A44

B59W
H7A1
H7A2
H7B
H7C
G39
K39

H7NW
H7PW
H7BW
H7BA
G5NT
H7NF

—
—
—
$

$

$

$

$

—
—
$

$

$

—
—
$

$

—
—
—
$

$

$

$

$

—
—
$

$

$

$

$

$

—
—
—
—
1

1

1

$

—
—
1

1

1

1

1

1

$

$

$

—
—
—
—
$

$

$

—
—
—
—
—
—

—
—
—

—

—

—

—

IC o%

IC o%

IC o%

$ 1 —

[<8	BC=�Best Pneumatics No.>.

8	BC�o%µ��P.14�15.

�/G¡X"

"&N8	BC��°`�a¿��.

)�?



CHN

VWX�

56�¢

����

£�¤¥��

i¦§¨��

iy56��

'©ªN?56�¢ªN

KLMN

��

 «¬­

¬­�®

[�@ª�

¨X�ª¨

7MPa

10.5MPa

9MPa

0.3MPa

�8	BC�MN –10 Q80°C

08	BC�MN–10 Q60°C

8Q300mm/s

��#$%&

ÄAB

JIS2C

Q250st
251Q800st

DE�g�{���
�m���g��m���

[�9�

D)XZ�E��F��ßà2.

�V (mm)

20

25

32

40

*+KL (mm) #KL

"U¯*+KLå6]G.
   U¯�ÄKL�³ªxÛE�HÍÎ.

"JxÛE�HÍÎ.

25Q300

25Q400

25Q500

800

¯°

±A_`G²

<,»&

³´µ

¶Y�VWY9 7�

JIS I°

����

_`·N§®
+1.0

 0
+1.4

 0

��¬¸

&'�

 «¬¸

&'6¹�.

%º»¼

½º»¼
a*¹�k

��� ����� $ !"#�  !"#� %&'�

$
(2�)

$

—
$

$

$

—
$

$

$

—
$

$

$

—
$

$

$

—
$

$

$ $ $ $ $

$
(2�)

$
(1�)

$
(1�)

—

��	
��[�/a¾�*>|¬¿k

�V (mm) 20

"J5J�{����KLM�x�A2�.

À����

"#

CHN-L020

CHN-F020

CHN-L025

CHN-F025

CHN-L032

CHN-F032

CHN-L040

CHN-F040

25 32 40

��[�/

�V
(mm)

8	BC�°

20

25

32

40

D-C7F C8�
D-H7�

D-B5FB6�
D-G5FK5�

D-A3FA4�

BMA2-020

BHN3-025

BHN3-032

BHN3-040

BA-01

BHN2-025

BGS1-032

BH2-040

BD1-01M

BD1-02M

BHN1-032

BDS-04M

[�Nþ³<,yAOP_]
�¯QR��Nþ³<,yAOP_��ýîx�Y�9S(�0BC<,þ0�TU�
A.)

BBA3: D-B5/B6/G5/K5��
BBA4: D-C7/C8/ H7��

"JD-H7BAL�BC���<,3V��Y�U¯��Nþ³<,yAO.WÄ�BC[
JJJ<3V��àBBA4 .

<,8	BC�ËyKL��P.3.

ÁÂÃÄ�VWY $

$

$

"

X

W/O VWY

O/W VWY

Å�ÆÇÈ�VWY

ÉÊË�VWY

±
A
�
Ì

g
:
Í



CHN

����	
gh9i|_`G

Îµ%Ï~�ÐÍ

~�
jX�BYZÝ��h[�\XZ�]^_�õ!

M.`^a!Më��XZb����É�ZÝ�

ccÉXZdeY�XZ.f½��>?OPxg

h�Ë\OP.

1. Y�<,Ai��jklZm¥¦��a5

2. �ml�g�mnÛ�<,��oDE�g�
��pqO�ª�MN�r·�KL8��s

��¸¹Zmtª���;��jX��ü.½

�uv��xÐAw³�<s��<,_�b\

>?OP�Ìe�KLx8�<y6s�)�.

EF<=�G

01G

�V (mm) 20 25 32 40

(kg)

0.27

0.51

0.36

0.25

0.12

0.37

0.63

0.54

0.45

0.13

0.53

0.91

0.72

0.67

0.18

1.05

1.59

1.26

1.00

0.23

���

�����

"#�

&'�

ÑÒÓÔÕÖz01

• ÑÙ%�(�) CHNL20–100
   (��� ø20F100st )
• DEÒÓ�0.51kg
• 
ÃÒÓ�0.12/50st 
• �KL��100st 
  0.51 + 0.12/50x100 = 0.75kg

~�

��×9~�

pqk3Z(N)=XZ(MPa) x WX��(mm2)

�V
(mm)

WX��
(mm2)

�V
(mm)

20

25

32

40

10

12

16

18

OUT

IN

OUT

IN

OUT

IN

OUT

IN

314

235

490

377

804

603

1256

1002

1 3 7
�ª%{ Y�XZ (MPa)

[@(N)

314

235

490

377

804

603

1256

1002

942

705

1470

1131

2412

1809

3768

3006

2198

1645

3430

2639

5628

4221

8792

7014

5
1570

1175

2450

1885

4020

3015

6280

5010

�V
(mm)

20
25
32
40

<,A
iAB

<,Ai
z�{ (mm)

klZm
N·m

M22 x 1.5

M24 x 1.5

M30 x 1.5

M33 x 1.5

45

60

85

110

26

32

38

41

56ØSÙ��4×9~�>H�

� /~�ÐÍ>��	
 /~�Ð

Í\�Ø³1~7IJ�

�
�
0
1

(mm)

8	BC�°

8	BC<,s

D-C7�
D-C8�

D-H7Ú�
D-H7ÚW�
D-H7BAL�
D-H7NF�

D-B5�
D-B6�

D-C73C�
D-C80C�
D-H7C�

D-H7LF�

D-B59W�

D-A3�
D-G39�
D-K39�
D-A44�

15 + 45 n – 2
2

(n = 2, 4, 6 �)

|�<,

2� n �

15

15

15

15

20

20

35

��� |�<,

50

60

65

75

65

75

100

1�

10

10

10

10

10

15

10

���

50 + 45 (n – 2)
(n = 2, 3, 4, 5 �)

60 + 45 (n – 2)
(n = 2, 3, 4, 5 �)

65 + 50 (n – 2)
(n = 2, 3, 4, 5 �)

75 + 55 (n – 2)
(n = 2, 3, 4, 5 �)

100 + 100 (n – 2)
(n = 2, 3, 4, 5 �)

n:8	BCs

15 + 50 n – 2
2

(n = 2, 4, 6 �)

20 + 50 n – 2
2

(n = 2, 4, 6 �)

15 + 50 n – 2
2

(n = 2, 4, 6 �)

20 + 50 n – 2
2

(n = 2, 4, 6 �)

35 + 30 (n – 2)
(n = 2, 3, 4, 5 �)



CHN

ÛÜÝo

}°

1

2

3

4

5

6

7

8

9

10

11

12

13

~�_� �Ò -D

 !�)

$ !�)

��

KL

KL 

�'�Þ

��ßA

��ßB

à�ß

��


á�âã

äå


�æ

�N�

�N�

�Nþ

�Nþ

�Nþ

�þ

�þ

���

�þ

��þ

N�þ

��þ

�*���

�*���

���

Û�çè[ Û�çè[

}°

14

15

16

17

18

19

20

21

22

23

24

25

26

~�_� �Ò -D

�'

á�âã

 éêã

ëìã

KLéêã

��íéêã

��éêã

îï'

��
éêãA

��
éêãB

KLíéêã

 «¬¸

��¬¸

—

��þ

NBR

NBR

NBR

NBR

—

��

NBR

NBR

NBR

�þ

�þ

g�[ðéêãñ[

20

25

32

40

�V (mm) P_�°

CHN20-PS

CHN25-PS

CHN32-PS

CHN40-PS

õ�

(�~�_°

16Q20g 22

ø20,25:�Nþ

ø32,40:�þ

#$�P_16Q20g 22)�P���V4P_�°�A.



CHN

����o

���/CHNB

�V
(mm)

KLóô
(mm)

25Q300

25Q400

25Q500

25Q500

6	AB#P
 (mm)

15.5

19.5

21   

21   

20

25

32

40

A

18

22

24

24

B1

13

17

22

24

B2

26

32

38

41

D

10

12

16

18

E

 8

10

14

16

F

16

16

19

21

GA1

10

10

11

12

GA2

12

12

13

17

GA3

12

12

13

17

GB1

  8

  8

  8

11

GB3

10

10

10

16

GB2

10

10

10

16

H

41

46

53

54

H1

  5

  6

  8

10

H2

  8

  8

  9

11

I

31

34

40

48

(mm)

ø
D

T
V

ø
IA

MM GA2 GB2 NN

�M� �M�
�M�

S + KL
ZZ + KL

2-Rc P6	AB#P

�úB1
�ú B2

H1
H2 GA1 GB1

W
�I

GA33 GB3
A K F NA

H
NB

�V
(mm)

20

25

32

40

K

5   

5.5

7.5

7.5

MM

    M8 x 1.25

  M10 x 1.25

M14 x 1.5

M16 x 1.5

NA

17

17

18

22

NB

15

15

15

21

NN

M22 x 1.5

M24 x 1.5

M30 x 1.5

M33 x 2   

P

1/8

1/8

1/8

1/4

S

  81

  81

  87

108

T

 9.5

11   

13   

16   

W

6.5

5.5

4   

0   

V

4.5

3.5

3   

5   

ZZ

138

143

159

183

(mm)

z�{E

IA

23f8         

25f8         

31f8         

34f8         

-0.020
-0.053
-0.020
-0.053
-0.025
-0.064
-0.025
-0.064



CHN

�����/ CHNL

�V
(mm)

KLóô
(mm)

25Q300

25Q400

25Q500

25Q500

6	AB#P
 (mm)

15.5

19.5

21

21

20

25

32

40

A

18

22

24

24

B1

13

17

22

24

B2

26

32

38

41

D

10

12

16

18

E

  8

10

14

16

F

16

16

19

21

GA1

10

10

11

12

GA2

12

12

13

17

GA3

12

12

13

17

GB1

  8

  8

  8

11

GB3

10

10

10

16

GB2

10

10

10

16

H

41

46

53

54

H1

5

6

8

10

H2

8

8

9

11

I

31

34

40

48

(mm)

K

5

5.5

7.5

7.5

�V
(mm)

20

25

32

40

LH

25

28

30

35

LS

121

121

133

158

LX

40

40

45

55

LZ

55

55

60

75

LT

5.5

5.5

6

6

MM

M8 x 1.25

M10 x 1.25

M14 x 1.5

M16 x 1.5

NA

17

17

18

22

NB

15

15

15

21

P

1/8

1/8

1/8

1/4

S

81

81

87

108

T

9.5

11

13

16

W

6.5

5.5

4

0

X

20

20

23

25

Y

9

9

9

11

V

4.5

3.5

3

5

ZZ

151

156

172

198

(mm)

GA2

GA1

GB2

GB1 TV

L
T L
H

GA3

Y Y

NA

GB3

NB
S + KL

LS + KL

ZZ + KL

X X

F

W

KA

ø
D

6	AB#P

H

MM

Rc P Rc P Rc P

�M�

��� ���

���

�M�

4-øLD

� I

LX

LZ

LD

7

7

7

9

H1�úB1

z�{ E

H2 �ú B2



CHN

 !"#�/ CHNF

�V
(mm)

KLóô
(mm)

25Q300

25Q400

25Q500

25Q500

6	AB#P
(mm)

15.5

19.5

21  

21  

20

25

32

40

A

18

22

24

24

B

38

44

50

60

B1

13

17

22

24

B2

26

32

38

41

D

10

12

16

18

E

  8

10

14

16

F

16

16

19

21

FD

7

7

7

9

FT

6

9

9

9

FX

51

53

55

66

FY

21

27

33

36

FZ

68

70

72

84

GA1

10

10

11

12

GA2

12

12

13

17

GA3

12

12

13

17

GB1

  8

  8

  8

11

GB2

10

10

10

16

(mm)

ø
IA

S +KL

���

���

���

ZZ + KL

6	AB#P

H1

MM

FT GA3

A K

H

F NA

GB3

NB

T V

F
YB ø
D

FZ

FX

�
I

�V
(mm)

20

25

32

40

K

5   

5.5

7.5

7.5

H2

  8

  8

  9

11

I

31

34

40

48

IA

23f8         

25f8         

31f8         

34f8         

MM

    M8 x 1.25

  M10 x 1.25

M14 x 1.5

M16 x 1.5

NA

17

17

18

22

NB

15

15

15

21

NN

M22 x 1.5

M24 x 1.5

M30 x 1.5

M33 x 2   

P

1/8

1/8

1/8

1/4

S

   81

   81

   87

108

T

  9.5

11   

13   

16   

W

6.5

5.5

4   

0   

V

4.5

3.5

3   

5   

ZZ

138

143

159

183

(mm)

3

�úB1
H2 GA1

W

GA2

GB1
NN

GB2
�ú B2

Rc PRc P

4-øFD

Rc P

-0.020
-0.053
-0.020
-0.053
-0.025
-0.064
-0.025
-0.064

H1

  5

  6

  8

10

�M� �M�

����o

GB3

10

10

10

16

H

41

46

53

54

z�{E



CHN

$ !"#�/ CHNG

ø
IA ø
D

MM

�ú B1

�M� �M�

4-øFD

H1 GA1

W

GA2

GB1

GB2NN Rc P Rc P Rc P

�ú B2

���

���

���

F
YB

TV

FZ

FX

6	AB#P GA33

A K

H

F NA

S + KL

ZZ + KL

GB3

NB

FT H2

�V
(mm)

KLóô
(mm)

25Q300

25Q400

25Q500

25Q500

6	AB#P
 (mm)

15.5

19.5

21

21

20

25

32

40

A

18

22

24

24

B1

13

17

22

24

B2

26

32

38

41

D

10

12

16

18

B

38

44

50

60

E

  8

10

14

16

F

16

16

19

21

FD

7

7

7

9

FT

6

9

9

9

FX

51

53

55

66

FY

21

27

33

36

FZ

68

70

72

84

GA1

10

10

11

12

GA2

12

12

13

17

GA3

12

12

13

17

GB1

  8

  8

  8

11

GB2

10

10

10

16

(mm)

�V
(mm)

20

25

32

40

K

5   

5.5

7.5

7.5

H2

  8

  8

  9

11

I

31

34

40

48

IA

23f8         

25f8         

31f8         

34f8         

MM

    M8 x 1.25

  M10 x 1.25

M14 x 1.5

M16 x 1.5

NA

17

17

18

22

NB

15

15

15

21

NN

M22 x 1.5

M24 x 1.5

M30 x 1.5

M33 x 2   

P

1/8

1/8

1/8

1/4

S

  81

  81

  87

108

T

  9.5

11   

13   

16   

W

6.5

5.5

4   

0   

V

4.5

3.5

3   

5   

ZZ

138

143

159

183

(mm)

-0.020
-0.053
-0.020
-0.053
-0.025
-0.064
-0.025
-0.064

H1

  5

  6

  8

10

GB3

10

10

10

16

H

41

46

53

54

z�{ E

�
I



CHN

%&'�/ CHNC

�V
(mm)

KLóô
(mm)

25Q300

25Q400

25Q500

25Q500

6	AB#P
 (mm)

15.5

19.5

21  

21  

20

25

32

40

A

18

22

24

24

B1

13

17

22

24

CD CX

16

16

16

24

D

10

12

16

18

E

  8

10

14

16

F

16

16

19

21

GA1

10

10

11

12

GA2

12

12

13

17

GA3

12

12

13

17

GB1

  8

  8

  8

11

GB2

10

10

10

16

GB3

10

10

10

16

H1

  5

  6

  8

10

H

41

46

53

54

I

31

34

40

48

(mm)

�V
(mm)

20

25

32

40

NB

15

15

15

21

K

5   

5.5

7.5

7.5

NA

17

17

18

22

IA

23f8         

25f8         

31f8         

34f8         

MM

    M8 x 1.25

  M10 x 1.25

M14 x 1.5

M16 x 1.5

P

1/8

1/8

1/8

1/4

RR

13.5

14.5

18.5

22.5

NN

M22 x 1.5

M24 x 1.5

M30 x 1.5

M33 x 2   

S

  81

  81

  87

108

T

  9.5

11   

13   

16   

U

14

15

20

20

W

6.5

5.5

4   

0   

V

4.5

3.5

3   

5   

ZZ

150

157

179

205

Z

136

142

160

182

(mm)

-0.020
-0.053

+0.109
0     

+0.109
0     

+0.109
0     

+0.034
-0.015

-0.020
-0.053
-0.025
-0.064
-0.025
-0.064

H1

MM
�úB1

GA1

GA2NN Rc P
���

�M� �M�

���
��� GB1

GB2Rc P Rc P

øCD
��XÖ

T

�I

ø
IA ø
D

V

CX

6	AB#P GA3

A K
H

F

W

NA
S + KL

ZZ + KL
Z + KL

GB3

NB
U

RR
-0.1
-0.2

����o

10

10

12

16

z�{E



CHN

³´µa±A�Ìµk

 «¬¸ ��¬¸

H B

d

D

H B

D CC

30°
30°

�° d H B C D&N�V
 (mm)

NT-02
NT-03
NT-04
AC-NI-50

M8 x 1.25
M10 x 1.25
M14 x 1.5
M16 x 1.5

20
25
32
40

5
6
8

10

13
17
22
24

15.0
19.6
25.4
27.7

12.5
16.5
21.0
23

�° d H B C D&N�V
 (mm)

SO-02
SO-03
SO-04
SO-05

M22 x 1.5
M24 x 1.5
M30 x 1.5
M33 x 2.0

20
25
32
40

8
8
9

11

26
32
38
41

30
36.9
43.9
47.3

26
32
38
41

d

�Ò: �þ�Ò: �þ



CHN

MM

U1
U1A1

L1 L1

L AB
4-J ��

A1

ø
E

1 ø
E

1

N
X

ø
8.

6

ø
9d

9
-0

.0
40

-0
.0

76

ø
12

d9
-0

.0
50

-0
.0

93

N
Z

N
X

ø
E

1

ø
E

1

ø
C

f7

N
X

N
Z

E
F

G

H

I

A B

D
+

0.
2

+
0.

1

³´[ag:Ík

ò�%º»¼ &'6��

�° A1 L1 R1 U1 NDH10
UH8

E1 MM NX&N�V
(mm)

&N�V
(mm)

I-02
I-03
I-04
IHN-04

  M8 x 1.25
M10 x 1.25
M14 x 1.5
M16 x 1.5

20
25
32
40

10
10

15.5
15.5

16
18
22
22

20
20
24
24

36
38
55
55

14
14
20
20

9
9

12
15

9
9

16
16

�° HG I J K L

AD-FI-20
AD-FI-25
AD-FI-32
AD-CHN-40

20
25
32
40

6.5
6.5
10
10

5.5
5.5
9
9

M R

5.5
5.5
7
10

A B C D E F

46
46
56
64

60
60
80
88

22
22
30
30

16
16
16
24

10
10
12
16

30
30
36
44

7
7
7
9

28
30
40
43

10
10
13
13

10
10
12
12

12
12
12
16

M4
M4
M5
M5

 +0.058
0

-0.1
-0.2
-0.1
-0.2
-0.1
-0.3
-0.1
-0.3

 +0.058
0

 +0.070
0

 +0.070
0

 +0.027
   0
 +0.027
   0
 +0.027
   0
 +0.027
   0

ø20: I-02
ø25: I-03

ø32: I-04
ø40: IA04

øNDH10

øNDH10
RR1

RR1MM

NX

øNDH10
øNDH10

RR1 RR1

45°

4-øK

M C

R øUH8

ó�½º»¼ ��¹�

�° A1 L1 R1 U1 NDH10
Cf7E1 MM NX NZ

&N�V
(mm)

�V
(mm)

Y��
B��

Y-02
Y-03
Y-04C
YHN-04

  M8 x 1.25
M10 x 1.25
M14 x 1.5
M16 x 1.5

20
25
32
40

12
12
13
13

16
18
22
22

20
20
24
24

36
38
55
55

14
14
25
25

18
18
38
38

9
9

12
15

9
9

16
16

�°

AD-EI-20
AD-EI-25
AD-EI-32
AD-CHN-40

20
25
32
40

A B D

45.5
45.5
52
60

35.5
35.5
42
50

3.2
3.2
4
4

10
10
12
16

 +0.058
   0

+0.2
+0.1
+0.2
+0.1
+0.3
+0.1
+0.3
+0.1

 +0.058
   0
 +0.070
   0
 +0.070
   0

-0.016
-0.034
-0.016
-0.034
-0.016
-0.034
-0.016
-0.034

ø20: Y-02
ø25: Y-03

ø32: Y-04A
ø40: Y-04B

MM

A1 A1 U1

L1

A

B

2-øD Å�

L1

25

19.2 1.75 41.7

49.7

41.75

U1

º»¼6¹�

ø20>ø256
�/².CDP-1
�Ò: �þ

ø32
�/².CDP-3
�Ò: �þ

ø3.2 x 16

ø4 x 20

C1
��

C1
��

1.15 1.15

2-ø3 
Å�

�	
�: ��C»9 Y��B��: ø3 x 18

ø
15

d9
-0

.0
50

-0
.0

93

41.7

49.7

5

ø406
�/² CDPN-4
�Ò: �þ

2-ø3.2
 Å�

Y��B��: ø3.2 x 20

�Ò: ��þ� �Ò: ��þ�

�Ò: ��þ� �Ò:  ¡ �Ò: �þ

�Òð. ¡

��÷¢

�� ÷¢



CHN

��	
/_`ô«õ=�97 ��öu?��¦N

D-C7/C8� D-H7Ú/H7ÚW/H7ÚF/H7BAL�

D-G5/K5/G5ÚW/G5BA/K9W/G59F/G5NT� D-A44�

D-C73C/C80C� D-H7C�

D-B5/B6/B59W� D-A3/G3/K3�

20

25

32

40

D-C7�
D-C80
D-C73C
D-C80C

D-B5�
D-B64

D-H7�
D-H7C
D-H7�W
D-H7BAL

D-H7�F D-B59W

D-G39
D-K39
D-A3�
D-A44

D-G5NTL

A

19    

20.5

23.5

28.5

B

11   

10.5

12.5

18.5

A

12.5

14   

17   

22   

B

   4.5

4

6

12  

A

17.5

19   

22   

27   

B

   9.5

9

11  

17  

A

14   

15.5

18.5

23.5

B

6 

  5.5

  7.5

13.5

A

15.5

17   

20   

25   

B

   7.5

7

9

15  

A

 12    

13.5

16.5

21.5

B

 4  

  3.5

  5.5

11.5

A

16   

17.5

20.5

25.5

B

8 

  7.5

  9.5

15.5

��	
97 ��öu

��	
9��¦N

�V
(mm)

20

25

32

40

�V
(mm)

D-B5
D-B6
D-B59W
D-G5NTL

D-C7
D-C8
D-H7
D-H7�W
D-H7�F
D-H7BAL

D-C73C
D-C80C
D-H7C

D-G39
D-K39
D-A33
D-A34

D-A44

HS

25   

27   

30.5

34.5

HS

28   

30   

33.5

37.5

HS

27.5

29.5

32.5

37.0

HS

62   

64   

66   

70.5

HS

72   

74   

76   

80.5

(mm)

(mm)

16
16

8.5

A 26 B8	BC

Hs

Hs

16

8.5

A 29
(36)

B

8	BCJJJJJJ

16

8.5

A 38.2 B

8	BC

36

A B49.5

8	BC

8.5

A 36.7 B

8	BC

24
.5

12

A 33 6.5 B

8	BC

24
.5

12

A 33 B

8	BC

"(  ) õsÀ) D-H7LF�MN.

Hs

Hs

Hs

Hs

Hs

Hs

36

A 49

8	BC

34 SMC AUTO SWITCH

SMCAUTO SWITCH



��	
9�÷

Îµ%Ï~�ÐÍ
56��	
Ø\SøU[��	
/~�ÐÍ]Ø³5~7IJ�

��	
ùú¯°

àn·N

àn·NG¡X"
. a@k

D–B54 L

àn·N

�¯°

L
Z
"N

0.5m
3m
5m
�z´

*û¼9àn�/
aü 7û��k

z´#P

0.5m

3m

5m

�°

D-LC05

D-LC30

D-LC50

D)�8£¥y
Y�9S6C�:��¤¥À.Y��8£6¦§��J
JJJ¨
E�H©r.

BC�
�ª@A
(OFF)

BC�
�ª@A
(ON)

Dª
8£

63æ8	BC: 2mm ��
�3æ8	BC: 1mm ��

8	BC

��

«!�

�ª�"

.�¬

­®�¯

.!X

9S°P

+,-��	


�

1.2ms

300m/s2

$,-��	


3´&: 100μA��
2´&: 1mA��
"2)1ms ��

1000m/s2

"1)AC1500V1�±
(z´g²<")

AC1000V1�±
(z´g²<")

–10Q60°C

DC500V³´a50MΩ�U(z´g²<")

"1) z´�3%&µ �&(C73C�FC80C�)AC1000V 1�± (z´g²<").
"2) 0,�-;��3æ8	BC(G5NTL�)¶Ä.

"Ø&N �&BC
D-��C�.

D1) z´#P Z:5m &N�8	BC
JJJJ63æ: D-B53FB54gD-C73(C)FC80C
JJJJ�3æ: ·��°456·¶o�x*+p.
D2) 0,�-;��3æ8	BC�.ç	2*)���3æ
JJJJ8	BC�z´#P3m)*+�.(y60.5m#)

`>?×�e8	BC�Å(ON)�@A�¸¹{×�e8	BC(B
(OFF)�@A "�º»�¡)8£.w¼��m��ªóôõ.



oJªõ�z´*�½e�ß�¾¿À*+Á�

,-ýþ��è��

�°

RS!X

Ë¥RS!�

,-ýþ�/ CD-P11> CD-P12

AC100V
25mA

CD-P12
DC24V
50mA

CD-P11
AC200V
12.5mA

,-ýþ�¯°

,-ýþ�²����o

,-ýþ�²�»X"

CD-P

VOLT S
W

IT
C

H

4.4

38

46
15.5ø3.4

3.
4

9 18

� 7	
�/�

D-C7FC8�gD-C73CFC80C�
U¯�8	BCU1õA3æ¤Âo%.

� 56PQ	
�PQ�
� �PQ	�9�n·
5m �×� 
� PQ��	 AC100V> 200V�

�×�Á��7\��56,-ýþ��

ÏÃ�3æÄÅb\.(ON(B)

�6õA3æ¤Âo%(D-A34gD-A44gD-B54gB64gD-B59W)�MN,
�PQ	�9�n·��·9�7(30m�×)>56����j9PLC(g
�`��mv)9�7\,-ýþ�+ST9�7\xÛE�HÍÎ.

Æ!Xìí�

Æ��

Æ��

ÇXz��

CD-P11

CD-P12
OUT (+)  È [É] 

OUT (–)  Ê [�] 

OUT È [É] 

OUT Ê [�] 

BCE<
3æ¤ÂË�Ì�:�3æ¤ÂËU�00SWITCH2��m�
z´
BCE<�z´îÌ.

WÄ�BCE<¤3æ¤ÂË"�z´#P�1m�õ�ÍÎÓnG)Ï.

"z´#P - BCÌ�m: 0.5m
                      RSÌ�m: 0.5m



��	
�è��

(    )õ�z´*�½e�ß� IEC *+Á�.

+,-��	


D-C73

D-C76

D-C80, D-C80C

D-B53

D-B54

D-B64

D-A33

D-A34, D-A44

rÐz��

!�

ÇXz��

3æ¤
ÂË  

CD-P11

CD-P12

È(É)

Ê(�)

OUT(+) 
È(É)

    

OUT(–) 
Ê(�)

rÐz��

!�

Ñ�Ò�
z��

OUT
�(Ó)

DC(+)
È(É)

DC(–)
Ê(�)

RS

( 
) 

   
   

   
   

   
(+

)

3æ¤
ÂË

CD-P11

CD-P12

OUT(±) 
È(É)

    

OUT(   ) 
Ê(�)           

ÇXz��

ÇXz��

Ô�BC rÐz��

!�

OUT (–)
Ê(�)

OUT (+)
È(É)

Ô�BC

rÐz��!�

Æ��

Æ!Xìí�

OUT(–)
Ê(�)

OUT (+) 
È(É)

Ô�BC

Æ��

Æ!Xìí�

OUT(±) 
È(É)

OUT(   ) 
Ê(�)

±

ÇXz��

Ô�BC rÐz��

!�

OUT(–)
 2°89

OUT(+) 
1°89

ÇXz��

Ô�BC
rÐ
z��

!�

Æ��

Æ!Xìí�

OUT(+) 
1°89

OUT(–) 
 2°89

±

D-C73C

Ê(�)

rÐz��

!�

ÇXz��

È(É)

OUT(–) 
Ê(�)

OUT(+) 
È(É)

Æ�� 

3æ¤ÂË
CD-P12

ÇXz
��

D-B59W

)�?Õ)�%�

Æ��

ÇXz��
Ô�BC

LED

OUT(+) 
È(É)

OUT(–) 
Ê(�)

�ªóô

Ë&N�ª@A

OFF

ON

)�
É* Ö* É*

Ô
�
B
C

Ì
�
!
× 

Ô
�
B
C

Ô
�
B
C

Ô
�
B
C

Ø
o
%

B
C

–



$,-��	


(  )õ�z´*�½e�ß� IEC *+Á�.

D-H7A1

D-G39, D-G39C

D-H7A2

D-H7B, D-H7C

D-K39, D-K39C

OUT
�(Ó)

DC(+)
È(É)

DC(–)
Ê(�)

OUT
2°89

DC(+)
1°89

DC(–)
3°89

OUT
�(Ó)

DC(+)
È(É)

DC(–)
Ê(�)

OUT(+)
È(É)

OUT(–)
Ê(�)

OUT(+)
1°89

OUT(–)
2°89

D-H7PW

D-H7BAL, D-H7BW

OUT
�(Ó)

DC(+)
È(É)

DC(–)
Ê(�)

OUT(+)
È(É)

OUT(–)
Ê(�)

D-H7NW

D-H7NF

D-G5NTL

Diagnosis OUT ('(k3)
Ù(Ú)

OUT
�(Ó)

DC(+)
È(É)

DC(–)
Ê(�)

OUT(ÅÛk3)
�(Ó)

DC(+)
È(É)

DC(–)
Ê(�)

OUT
�(Ó)

DC(+)
È(É)

DC(–)
Ê(�)

D-H7LF

Diagnosis OUT ('(k3)
Ù(Ê)

OUT(ÅÛk3)
�(Ó)

DC(+)
È(É)

DC(–)
Ê(�)

Ø
o
%

B
C

Ø
o
%

B
C

Ø
o
%

B
C

Ø
o
%

B
C

Ø
o
%

B
C

Ø
o
%

B
C

Ø
o
%

B
C

Ø
o
%

B
C

Ø
o
%

B
C

Ø
o
%

B
C

Ø
o
%

B
C



���n

$,-3n� NPN

��<�¯°9�7

    2n�

��<�¯°9�7

2n�92�AND�»9�7 2n�9 2�OR�»9�7

2n� 2n�

$,-3n� PNP

�: !×!X DC24V
      BCõ�b�!X4V

�: RS�¯ 3kΩ
     BC«!� 1mA

(BC!×
RS!×���MN.)

 AND(��)>OR( �)�»@

3 PLCag�`�mvk9�»@. 

Ì�%�
PLC�kÖÁÜ
6C�x4PLC�kÖÁÜ
ÕKÌ�.

BC2�ANDÌ��M
N�ON��RS!X�
b�6�;��RS�
ª�Ý.WÄ�2�BC
7�ON���)�?Þ
ß.

(�3æ)
2�BCORÌ��
MN�OFF��R
S!X
¥�6�
;��RS�ª�
Ý.

Ê

BC
Øo%

 RS

È

�

BC
Øo%

È

RS

Ê

�

BC
Øo%

RS
Ê

È

BC
Øo%

RS

Ê

BC
Øo%

RS

È

Ê

�

PLC õ�o%
COM

BC

kÖ�

È

Ê

PLC õ�o%
COM

BC

kÖÈ

Ê

PLCõ�o%

PLCõ�o%

BC

COM

Ê

È

COM

BC

kÖ

kÖ

�

È

Ê

BC 1

BC 2

RS

Ê

È

Ê

È

BC 1

BC 2

RS
È

Ê

È

Ê

!.3n�9�7
  NPN <=9OR�»

BC1

BC2

RSBC1

È

BC2

�

Ê
7!�

7!�
�

RS

7!�3æ

  NPN<=9AND�»
  (56"�v�7)

BC 1

È

BC 2

RS

È

NPN<=9AND�»
(ü6	
�_9�7)

2�BC7ON���)�?Þß.

(63æ)

 2n�
(+,-)

)�?
¤Âo
%}

È

Ê

RS

È

Ê
RS

3n�NPN 3n�PNP 

È

Ê

Ê

�

�

Ê

È

Ê

�

Ê

�

È

Ûýy6«!��OFF�
�RS!X�û
¥�d
eON����BC�s�
�ÆBC�!�À���
Ûý!�ày�)�?�
;ºáÇ�ß.

)�?
¤Âo
%}

= 24V – 4V x 2�
= 16V

OFF��RS!XJ= «!� x 2� x RS�¯ 
 = 1mA x 2� x 3kΩ
 = 6V

a$,-k
È

ON��RS!X = !×!Xáâã!X x 2�






